

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Carrie Exploration & Development LLC 210 West 22nd Street

Hays, KS 67601



Invoice Number: 143932

Invoice Date: Jun 17, 2014

Page: 1

Customer ID	Field Ticket #	Payment	t Terms
Carrie	63576	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2-04	Great Bend	Jun 17, 2014	7/17/14

Quantity	Item	Description Unit Price	Amount
1.00	WELL NAME	Sells Doxon Bunker Unit C #1	
1.00	CEMENT SERVICE	Port Collar 2,483.5	2,483.59
25.00	CEMENT SERVICE	Pump Truck Mileage 7.7	192.50
25.00	CEMENT SERVICE	Light Vehicle Mileage 4.4	110.00
6.00	CEMENT SERVICE	Waiting on Location 440.0	2,640.00
1.00	CEMENT SUPERVISOR	Charles Kinyon	
1.00	OPERATOR ASSISTANT	Joshua Ellis	
1.00	OPERATOR ASSISTANT	Brian Lang	į l
		nd 14	,
		V 20	
		Pa-30-14 4717	
		u · · ·	
L			

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1,356.52

ONLY IF PAID ON OR BEFORE

Jul 17, 2014

Subtotal	5,426.09
Sales Tax	
Total Invoice Amount	5,426.09
Payment/Credit Applied	18 4069 57
TOTAL	5,426.09

ALLIED OIL & GAS SERVICES, LLC 063576

Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092

SERVICE POINT:

SOUT	HLAKE, T	EXAS 76	092				grea	Tisesse
6-17-14 DATE	SEC.3	TWP.	RANGE 22	CA	LLED OUT	ON LOCATION		JOB FINISH
LEASE Burker	WELL#	C-1	LOCATION.	-20 F	x'T 135	Eclato ogak	COUNTY	STATE
OLD OR NEW (C							and the	
OLD ORRIVED (C	neic one)		Non cert	ren	18476 E	Nouve	J	
CONTRACTOR 4	rmeric	ns pa	Uins seri	ree	OWNER -2	ane		
TYPE OF JOB P	ret coll	lu						
HOLE SIZE		T.I).		CEMENT		_	
CASING SIZE	7"		PTH		AMOUNT O	RDERED 450	14 65/3	3 6% ge t
TUBING SIZE	28	DE	PTH 2283		4 pla 1 s	y Motuse	1)	
DRILL PIPE		DE	PTH					
rool part	cour		ртн <i>2286</i>					
PRES. MAX			NIMUM					
MEAS. LINE		SH	IOE JOINT					
CEMENT LEFT II	N CSG.				GEL _		@	
PERFS. DISPLACEMENT	H20						_ @	
DISPLACEMENT			-		ASC		@ @	
	EQU	UIPMENT	ľ					
PUMPTRUCK			eles King	m_			@	
# <i>398</i>	HELPER	posh	elles					
BULK TRUCK		n.	an Rang					
#610-170	DRIVER	one	an rang	·				
BULK TRUCK	DDUVED						@	
 	DRIVER				HANDLING	1	@	
did not ho BBI H20 az 1 Ciculation Ralla dong	equest	140 8BI	w-man n. Mud 21.	20-11	PUMP TRU	JOB <u>2286</u> CK CHARGE DTAGE	<u> </u>	59
pump 70	BRID	nul 1	form Tu	The same	MILEAGE_		@ 	192.50
got circu				0	MANIFOLD		@ <u></u>	112
,					WANTOLD	10m 25	@ <u>4.40</u>	110.00
CHARGE TO: _	and a	oual			wait Z	ime bhrs	@ 440.00	2.640.
STREET		Оруги	anch			_	TOTAL	5.426.
CITY	S 7	TATE	ZIP					
						PLUG & FLOA	T EQUIPMEN	NT .
10 1		,					@	
Bush To: Allied Oil &	goh!	, 	,					
You are hereby r						· · · · · · · · · · · · · · · · · · ·		
and furnish ceme		-					~	
contractor to do							0% TOTAL	0
done to satisfact		-					0 /0 TOTAL	. <u></u> _
contractor. I hav					CALECTAV	(If Any)		
TERMS AND C	ONDITIO	ONS" liste	ed on the reverse	e side.	SALES TAX		90	
	./ -				TOTAL CHA	ARGES 5. 47	26.	1001 ::
PRINTED NAME	XB	DN HO	6/00		DISCOUNT	ARGES 5: 47	56. 25 N	25/2.5/0
			1		PIGCOGIAI		C. (1	
signature _	(P	on Ac	nold			4.06	9.57	•



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Carrie Exploration & Development LLC 210 West 22nd Street

Hays, KS 67601



Invoice Number: 143933

Invoice Date: Jun 18, 2014

Page: 1

Customer ID	Field Ticket#	Paymen	Terms
Carrie	63577	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2-04	Great Bend	Jun 18, 2014	7/18/14

Quantity	Item	Description	Unit Price	Amount
1.00	WELLNAME	Sells Doxon Bunker Unit C #1		
830.00	CEMENT MATERIALS	65/35/6% Gel Blend	19.88	16,500.40
225.00	CEMENT MATERIALS	Flo Seal	2.97	668.25
997.80	CEMENT SERVICE	Cubic Feet Charge	2.48	2,474.54
1,099.74	CEMENT SERVICE	Ton Mileage Charge	2.75	3,024.29
1.00	CEMENT SERVICE	Port Collar	2,483.59	2,483.59
25.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	110.00
1.00	CEMENT SUPERVISOR	Charles Kinyon	1.40	110.00
1.00	CEMENT SUPERVISOR	Tim Dickson		
1.00	OPERATOR ASSISTANT	Brian Lang		
1.00	CEMENT SUPERVISOR	Brian Lang Dustin Smith pd 4.30-14		
		30-1		
		1 Li		
		DOY .		
		\ .1		
		11/1/		
		Y'		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

6,315.27

ONLY IF PAID ON OR BEFORE

Jul 18, 2014

0.11.4.1	
Subtotal	25,261.07
Sales Tax	1,313.40
Total Invoice Amount	26,574.47
Payment/Credit Applied	
TOTAL	26,574.47

\$ 20,254.20

ALLIED OIL & GAS SERVICES, LLC 063577

Federal Tax I.D. # 20-8651475 REMIT TO P.O. BOX 93999 SERVICE POINT: SOUTHLAKE, TEXAS 76092 great Benel 6-18-14 DATE CALLED OUT ON LOCATION JOB FINISH sells Dolon LEASE Bunker WELL# C-/ LOCATION ogallal H on centre st OLD OR NEW (Circle one) on on IBbot N chita CONTRACTOR american pulling service OWNER Same TYPE OF JOB port collar HOLE SIZE 10 34 **CEMENT CASING SIZE** DEPTH AMOUNT ORDERED 900 14 65135 6% TUBING SIZE 2283 DEPTH (830 sx used DRILL PIPE **DEPTH** TOOL fort Callas DEPTH 2286 PRES. MAX **MINIMUM** COMMON MEAS. LINE SHOE JOINT POZMIX CEMENT LEFT IN CSG. **GEL** PERFS. **CHLORIDE** DISPLACEMENT H20 12 BBI H20 ASC @ **EQUIPMENT** 830 sx 45/35+6 19.88 16.500. <u> flooral - 225</u> @ 2.97 PUMPTRUCK # 398 CEMENTER Charles Kinger HELPER tim dich Materials 17.168.65 BULK TRUCK #*610~170* <u>(۵۲۶</u> 4.292.14 DRIVER BRIAN **BULK TRUCK** Service #544 HANDLING 997.8 @ 2.48 MILEAGE 43.99 x 25 3.024.31 REMARKS: pump 12 BBI H20 down tubing no pump 140 BBI mud down did Circulate DEPTH OF JOB 2286 presure to 1000# PUMP TRUCK CHARGE 2.483 55 EXTRA FOOTAGE MILEAGE ____ MANIFOLD. @ 4.40 CHARGE TO: Carrie exploration STREET _____ STATE ___ PLUG & FLOAT EQUIPMENT Thanh you!
To: Allied Oil & Gas Services, LLC. @ @ You are hereby requested to rent cementing equipment @ and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was

contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.

PRINTED NAME X RON Horold

SALES TAX (If Any)

TOTAL CHARGES 25. 261. 99

25% 6. 315. 31

DISCOUNT IF PAID IN 30 DAYS

18. 945. 81